THRAIAOQRUHEHTFE

[KHEE#X] FERR295%284% (FERk294%38 1B HE)
T i X Al A m| H T
5 = it

WWDF1TH 147 171 318 148
WWDF2TH 276 309 585 244
W W1 TH 100 122 222 116
W W2TH 527 504 1,031 452
7t B1TH 267 295 562 250
3t HBI2TH 182 176 358 149
HER1TH 161 163 324 165
HER2TH 243 256 499 229
HERITH 318 323 641 244
b $£1TH 172 213 385 178
h R2TH 180 218 398 206
FEET1TH 216 271 487 239
FEBT2TH 181 221 402 159
£ E1TH 343 367 710 331
% 1ZF2TH 162 184 346 167
% 1E3TH 266 271 537 222
% 1F4TH 226 225 451 199
A HE1TH 632 634 1,266 569
A HEI2TH 290 305 595 242
X IG1TH 327 310 637 297
X L2TH 313 310 623 302
X L3TH 389 419 808 367
£ E1TH 689 786 1,475 635
£ [R2TH 762 753 1,515 608
£ [E3TH 886 933 1,819 717
% F1TH 341 317 658 276
% F2TH 798 784 1,582 616
% &F3TH 956 1,004 1,960 809
% F4TH 182 176 358 153
% FS5TH 64 72 136 39
= W 459 432 891 362
E+tR1TH 680 650 1,330 563
E+R2TH 164 155 319 114
= BE1TH 549 598 1,147 514
= B2TH 222 228 450 234
m B B 1,476 1,445 2,921 1,067
R it 14,146 14,600 28,746 12,175




[£HA#X]

T B X A A G
t B & 1,621 1,650 3,271 1,313
T 5 92 102 194 59
ird H 100 109 209 62

] 28 25 53 18
S R 186 177 363 136
F B KN 104 93 197 65
= it 307 311 618 181
m % R 515 508 1,023 351
& B 186 216 402 137
P H 271 291 562 200
Z & R 182 156 338 111
N & 679 634 1,313 479
I £ A 531 576 1,107 473
A 491 486 977 353
+ B R 361 339 700 280
e} iR 237 228 465 147
i3 i 252 254 506 156
B & 248 250 498 143
i i 15 14 29 11

b XK #1 A 136 162 298 159
I\ it 6,542 6,581 13,123 4,834

[$REH X ]

T B X A A i

F
b 614 633 1,247 444
ES i)d 765 814 1,579 608
8 iR 121 128 249 81
E [l 126 123 249 73
1€ 247 243 490 150
F H I 418 456 874 268
w % B 152 153 305 99
I\ i 2,443 2,550 4,993 1,723




[EFidiHh X ]

T B X A A i
+r B E 437 466 903 337
T & E 659 656 1,315 576
5 =3 1,532 1,512 3,044 1,192
I iR 77 70 147 40

¥ ®\1TH 123 130 253 105

¥ B2TH 227 229 456 185
I\ At 3,055 3,063 6,118 2,435

[{EALL#IX]

T B X A A i

F
£ A Wi 624 688 1,312 458
B iR 119 126 245 70
N i 162 150 312 112
= [ 321 303 624 228
I\ B 1,226 1,267 2,493 868
[iZ:E EhX]
T B X A A i
F
PR 240 226 466 143
M 92 75 167 60
mEL 585 576 1,161 409
ERL 470 443 913 306
% (M 288 288 576 192
ey s 408 422 830 261
e 50 49 99 37
HFFH 117 130 247 89
I\ i 2,250 2,209 4,459 1,497




[RPHX ]

T B X A A %
i

EFIHHE 321 339 660 246
HIH 433 398 831 306
Y2 185 184 369 136
L8 L 352 319 671 257
J\i& 150 167 317 130
dtiE 155 163 318 97
A H 154 175 329 100
g8A 186 152 338 109
XE 30 25 55 19
/] &t 1,966 1,922 3,888 1,400

[ Faih X ]

T B X Al A T
2 F A BT 702 717 1,419 501
A= H 290 303 593 223

R 176 184 360 121
3= 231 223 454 147
BAR 316 335 651 207
EH 662 551 1,213 488
I\ &t 2,377 2,313 4,690 1,687

[ 7l $ER 4 X

T B X Al A T
hEF A 256 254 510 159

AR 193 208 401 126
L 104 109 213 68
FE 60 59 119 40
Rikx 59 59 118 37
KAR 67 65 132 44
AEHX 87 162 249 119
Kim 151 157 308 103
JIIEA 76 80 156 68
I\ i 1,053 1,153 2,206 764




1T B X A A T
5 i g
JBlER 290 299 589 217
BEI 364 360 724 278
EEF 59 68 127 47
JIl E 20 20 40 21
MmA 87 75 162 59
N B 820 822 1,642 622
& 8
A .
= & 3 T
35,878 36,480 72,358 28,005




